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&DUWD�GH�D\XGD�GH�HPHUJHQFLD�GH�81,0$�
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/D $\XGD GH (PHUJHQFLD GH 81,0$ DSRUWD XQ DSR\R EDMR OD IRUPD GH HQWUHJD GH DOLPHQWRV \� � � � � � � � � � � � � � � � �
SURGXFWRV GH KLJLHQH� DVt FRPR GH XQ DSR\R HFRQyPLFR ~QLFR SDUD HO VDOYDWDMH GH YLYLHQGD� D WLWLULWHURV� � � � � � � � � � � � � � � � �
HQ QHFHVLGDG TXH VH KD\DQ FRPXQLFDGR FRQ 81,0$ \ D VXV IDPLOLDV� (VWRV DSR\RV QR SUHWHQGHQ� � � � � � � � � � � � � � � �
VXVWLWXLU�D�ORV�VHUYLFLRV�VRFLDOHV��RILFLDOHV�R�SULYDGRV��
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6H JDUDQWL]D HO DQRQLPDWR GH ORV VROLFLWDQWHV� /DV SHUVRQDV TXH DFW~DQ HQ QRPEUH GH 81,0$� VH� � � � � � � � � � � � � � � �
FRPSURPHWHQ D FRPSURPHWHUVH D DFWXDU GH PDQHUD FRQILGHQFLDO \ QR GDxDU OD GLJQLGDG GH ODV SHUVRQDV� � � � � � � � � � � � � � � �
TXH�EXVFDQ�DVLVWHQFLD�GH�HPHUJHQFLD�GH�OD�81,0$��
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1R�VH�VROLFLWD�QLQJ~Q�WLSR�GH�SDJR�D�ORV�EHQHILFLDULRV�GH�OD�$\XGD�GH�(PHUJHQFLD�GH�81,0$��
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&DGD FHQWUR QDFLRQDO� R DQWHQD ORFDO� VH FRPSURPHWH D UHVSHWDU HVWRV SULQFLSLRV JHQHUDOHV� SHUR VH� � � � � � � � � � � � � � �
RUJDQL]D \ DFW~D GH DFXHUGR FRQ VXV SRVLELOLGDGHV� VHJ~Q ODV SHUVRQDV TXH OR FRPSRQHQ� VXV IRUWDOH]DV�� � � � � � � � � � � � � � � �
FRVWXPEUHV \ PHQWDOLGDGHV ORFDOHV� /D &RPLVLyQ GH &RRSHUDFLyQ GH 81,0$ FRRUGLQD VXV DFWLYLGDGHV� � � � � � � � � � � � �
SDUD�XQLU�IXHU]DV��HYLWDU�GXSOLFDFLRQHV�\�FRPSDUWLU�H[SHULHQFLDV��
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(O QRPEUH �$\XGD GH HPHUJHQFLD GH 81,0$� QR VH SXHGH XWLOL]DU FRQ ILQHV SXEOLFLWDULRV R SROtWLFRV�� � � � � � � � � � � � � � � �
SURPRFLyQ GH HYHQWRV� SURGXFWRV FRPHUFLDOHV� HWF� /D $\XGD GH (PHUJHQFLD GH 81,0$ HVWi� � � � � � � � � � � � �
LPSXOVDGD SRU XQ LGHDO GH VROLGDULGDG HQWUH ORV WLWLULWHURV GHO PXQGR TXH LPSOLFD UHVSHWR SRU OD pWLFD�� � � � � � � � � � � � � � � � �
&DGD DQWHQD \ FDGD FHQWUR QDFLRQDO GHEHQ VHU FRQVFLHQWHV GH TXH VX DFFLyQ QR OD LQYROXFUD VROR D HOOD�� � � � � � � � � � � � � � � � � � �
VLQR�TXH�WRGDV�ODV�GHPiV�DQWHQDV�\�WRGD�OD�$VRFLDFLyQ�81,0$�HVWiQ�SUHRFXSDGDV�SRU�OR�TXH�KDFHQ�� �


